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2Cl H2O  4HCl  + O2 .

[25]

Na2SiO3 NaOHNH3 CO2 H2SO4CH3OH HCOOH NaCuO CuS KHCO3KOH
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2423 354 345 4326 3543 28 29 254 2342
3434
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2KClO2 3 3KOH 2 3PO4 3H2OP 3 – 8 = P+5Cl+3 + 4 = Cl 2KClO2 Cl+3) – PH3 P 3) –
 : 2 

2KOH AgNO3 KNO3 Ag2O H2O2K+ + 2OH + 2Ag+ + 2NO3 = 2K+ +  2NO3 + Ag2O + H2O2OH + 2Ag+ = Ag2O + H2O 

 KOH HF KF H2OK+ + OH + HF = K+ + F + H2O OH + HF = F + H2O 

2 

2 CuS 4H2SO4 = CuSO4 4SO2 4H2OSO2 2 2SO4 2H2OK2SO4 3 2 4 34 4CO
4 

3

 
5 

44AgNO3 2 2 4HNO34 3 3 2 4NO3 2Om AgNO3n AgNO3
3 3

vk.com/chem4you

0,044 > 0,0710 Znn Zn NO3 2 410 n 3m Zn NO3 2n NH4NO3 110 n 3NH4NO3m - m AgNO3 - m Zn – m Ag – m O2 – – 32 == Zn NO3 2 2NH4NO3 29 29
 

5 CxHyOzn C n CO2n H 2m O – –x y – C8H
- -
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